BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

3) LONGHORN EXCAVATORS, INC.

CONSTRUCTION OF PHASE 1 DETENTION FACILITIES TO SERVE LAKESIDE BAYOU GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53 CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS JANUARY 12, 2024 LJA ENGINEERING, INC. S. YOUNG JANUARY 12, 2024 1367-2910 (9.2)

BID INCLUDING PHASE 1

\$11,324,469.36

BIDDER'S NAME	A	LTERNATE ITEMS
1) LONNIE LISCHKA COMPANY, LP	\$4,143,518.59	\$11,191,882.51
2) TEXAN DIRT, LLC	\$4,802,680.00	\$9,337,752.40

TOTAL AMOUNT BID

\$4,848,690.00



I, JORDAN IVES , P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PHASE 1 DETENTION FACILITIES
TO SERVE LAKESIDE BAYOU
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
JANUARY 12, 2024
LJA ENGINEERING, INC.
S. YOUNG

25.1.002.101			1) LONNIE LISCHK	A COMPANY I P	2) TEXAN [OIRT II C	3) LONGHORN EX	CAVATORS INC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PHASE 1 EXCAVATION ITEMS							V 222.	
1 EXCAVATION OF DETENTION MATERIAL, INCLUDES STRIF STOCKPILING AND RE-APPLICATION OF STRIPPINGS, CO		253356	\$1.00	\$253,356.00	\$1.21	\$306,560.76	\$1.80	\$456,040.80
2 HAUL EXCAVATED DETENTION MATERIAL TO DESIGNATE USING OFF ROAD TRUCKS, (0 - 1 MILE), INCLUDES STRIP! STRIPPINGS, PLACEMENT AND COMPACTION TO 95% ST/ DENSITY, WITH MAXIMUM 8" LIFTS, AND INCLUDES RE-AF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLA	PING, STOCKPILING ANDARD PROCTOR PLICATION OF	253356	\$2.18	\$552,316.08	\$2.10	\$532,047.60	\$1.44	\$364,832.64
3 EXCAVATION OF AMENITY MATERIAL, INCLUDES STRIPPI AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLA		705008	\$1.00	\$705,008.00	\$1.00	\$705,008.00	\$1.50	\$1,057,512.00
4 HAUL EXCAVATED AMENITY MATERIAL TO DESIGNATED I USING OFF ROAD TRUCKS, (0 - 1 MILE), INCLUDES STRIPI STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STDENSITY, WITH MAXIMUM 8" LIFTS, AND INCLUDES RE-AF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLA	PING, STOCKPILING ANDARD PROCTOR PLICATION OF	705008	\$2.18	\$1,536,917.44	\$2.30	\$1,621,518.40	\$1.44	\$1,015,211.52
5 EXCAVATION AND GRADING OF DRAINAGE SWALES, 3:1 SLOPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING (STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM, RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	OF SPOIL MATERIAL, COMPACTION	10745	\$3.00	\$32,235,00	\$2.50	\$26,862.50	\$1.50	\$16,117.50
PHASE 1 EXCAVATION ITEMS SUBTOTAL:				\$3,079,832.52		\$3,191,997.26		\$2,909,714.46
PHASE 1 DETENTION DRAINAGE ITEMS								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPL		211	\$111.20	\$23,463.20	\$150.00	\$31,650.00	\$100.71	\$21,249.81
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPL		145	\$151.65	\$21,989.25	\$165.00	\$23,925.00	\$138.87	\$20,136.15
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPL		189	\$185.32	\$35,025.48	\$220.00	\$41,580.00	\$183.39	\$34,660.71
4 24" CORRUGATED GALVANIZED METAL PIPE, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLA	LF	224	\$70.36	\$15,760.64	\$115.00	\$25,760.00	\$98.61	\$22,088.64
5 TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZE ALL DEPTHS, COMPLETE IN PLACE	S, LF	769	\$0.50	\$384.50	\$3.00	\$2,307.00	\$1.08	\$830.52
6 REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" ST SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMF		1	\$6,200.00	\$6,200.00	\$4,500.00	\$4,500.00	\$6,891.00	\$6,891.00
7 MAINTENANCE BERM INLET BOX, ALL DEPTHS, COMPLET	E IN PLACE EA	2	\$2,800.00	\$5,600.00	\$3,200.00	\$6,400.00	\$4,770.00	\$9,540.00
8 5" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOI ALL AROUND, INCLUDES WEEP HOLES AND EXPANSION COMPLETE IN PLACE		143	\$110.00	\$15,730.00	\$120.00	\$17,160.00	\$111.30	\$15,915.90
PHASE 1 DETENTION DRAINAGE ITEMS SUBTOTAL:				\$124,153.07		\$153,282.00		\$131,312.73
PHASE 1 CHANNEL CROSSING ITEMS								
1 10'X8' REINFORCED CONCRETE BOX CULVERT, ASTM C- INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPL		294	\$1,310.00	\$385,140.00	\$1,625.00	\$477,750.00	\$1,713.00	\$503,622.00
2 TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	98	\$1.00	\$98.00	\$3.00	\$294.00	\$1.08	\$105.84
3 WING WALLS FOR 3~10'X8' BOX CULVERT PER TXDOT DE INCLUDES HEADWALL AND APRON, COMPLETE IN PLACE		2	\$56,178.00	\$112,356.00	\$55,000.00	\$110,000.00	\$145,221.00	\$290,442.00

JANUARY 12, 2024

1367-2910 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PHASE 1 DETENTION FACILITIES
TO SERVE LAKESIDE BAYOU
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
JANUARY 12, 2024
LJA ENGINEERING, INC.
S. YOUNG
JANUARY 12, 2024

				1) LONNIE LISCHKA	IKA COMPANY, LP 2) TEXAN D		DIRT, LLC	LC 3) LONGHORN EXCAVATORS, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PHASE 1 CHANNEL CROSSING ITEMS	SUBTOTAL:				\$497,594.00		\$588,044.00		\$794,169.84
PHASE 1 MISCELLANEOUS ITEMS									
TO 95% PROCTOR DENSITY, WI' AMENITY LAKE USING SUITABLE	RY SOIL AND PLACEMENT AND COMPACTION TH MAXIMUM 8" LIFTS, OF 2' CLAY LINER FOR E ONSITE MATERIAL, (AS DIRECTED BY ENGINEER, ENDATION), COMPLETE IN PLACE	CY	128071	\$1.50	\$192,106.50	\$1.50	\$192,106.50	\$4.95	\$633,951.45
AERATE THE SUBGRADE SOILS	AREAS TO RECEIVE FILL TO A DEPTH OF 12" TO AND RE-COMPACT TO 95% STANDARD PROCTOR TS, (AS DIRECTED BY ENGINEER), COMPLETE IN	AC	40	\$150.00	\$6,000.00	\$250.00	\$10,000.00	\$690.00	\$27,600.00
AERATE THE SUBGRADE SOILS	AREAS TO RECEIVE FILL TO A DEPTH OF 24" TO AND RE-COMPACT TO 95% STANDARD PROCTOR IS, (AS DIRECTED BY ENGINEER), COMPLETE IN	AC	20	\$100.00	\$2,000.00	\$400.00	\$8,000.00	\$1,200.00	\$24,000.00
OF LAKE, CHANNEL, OR POND, I POINTS, INTERNAL SUMPS AND	COMPLETE THE CONSTRUCTION OF THE	AC	27	\$1,650.00	\$44,550.00	\$13,500.00	\$364,500.00	\$1,500.00	\$40,500.00
WITHIN FILL AREAS, INCLUDES I OF UNSUITABLE MATERIAL AND	ABLE MATERIAL PRIOR TO FILL PLACEMENT EXCAVATION, DEMUCKING, AND SPREADING PLACEMENT OF MATERIAL AS FINAL LIFT UPON CTED BY ENGINEER), COMPLETE IN PLACE	CY	33333	\$2.50	\$83,332.50	\$1.50	\$49,999.50	\$2.94	\$97,999.02
6 SURFACE PUMPING STORMWAT TO CONSTRUCT DETENTION PO COMPLETE IN PLACE	TER, 6" PUMP, AS NECESSARY IND, (AS DIRECTED BY ENGINEER),	HR	800	\$35.00	\$28,000.00	\$30.00	\$24,000.00	\$33.00	\$26,400.00
7 SURFACE PUMPING STORMWAT TO CONSTRUCT DETENTION PO COMPLETE IN PLACE	TER, 8" PUMP, AS NECESSARY ND, (AS DIRECTED BY ENGINEER),	HR	400	\$45.00	\$18,000.00	\$30.00	\$12,000.00	\$45.00	\$18,000.00
	E GRADING, INCLUDES WATERING AND 'AS DIRECTED BY THE ENGINEER),	AC	5	\$1,050.00	\$5,250.00	\$950.00	\$4,750.00	\$1,200.00	\$6,000.00
	NE GRADING, INCLUDES WATERING, TO ACHIEVE OVERAGE, (AS DIRECTED BY ENGINEER),	AC	6	\$3,400.00	\$20,400.00	\$2,800.00	\$16,800.00	\$2,700.00	\$16,200.00
10 INSTALL, MAINTAIN, AND REMOV (SILT BARRIER FENCING), COMF	/E REINFORCED FILTER FABRIC FENCE PLETE IN PLACE	LF	2000	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$3.18	\$6,360.00
	R WET SAND CONSTRUCTION ALL LINE SIZES AND THE DIRECTION OF THE ENGINEER), COMPLETE	LF	100	\$15.00	\$1,500.00	\$30.00	\$3,000.00	\$31.80	\$3,180.00
	LINE PROTECTION, MAINTAIN AND REMOVE UPON ENGINEER, COMPLETE IN PLACE	EA	2	\$7,000.00	\$14,000.00	\$20,000.00	\$40,000.00	\$24,690.00	\$49,380.00
	EVENTION PLAN COMPLIANCE, INCLUDES AND ALL ITEMS NOT SPECIFICALLY LISTED ITE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$6,900.00	\$6,900.00
14 INSTALL, MAINTAIN, AND REMOV COMPLETE IN PLACE	/E CONCRETE WASHOUT AREA,	EA	1	\$500.00	\$500.00	\$200.00	\$200.00	\$3,000.00	\$3,000.00

1367-2910 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PHASE 1 DETENTION FACILITIES
TO SERVE LAKESIDE BAYOU
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 53
CITY OF TEXAS CITY, GALVESTON COUNTY, TEXAS
JANUARY 12, 2024
LJA ENGINEERING, INC.
S. YOUNG

				1) LONNIE LISCHKA COMPANY, LP		2) TEXAN DIRT, LLC		3) LONGHORN EXCAVATORS, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	NANCE AND REMOVAL OF STABILIZED ANCE, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00
16 INLET PROTECTION BA	RRIER FOR STAGE II INLET, COMPLETE IN PLACE	EA	2	\$150.00	\$300.00	\$100.00	\$200.00	\$267.00	\$534.00
CONTRACTOR RESPON	RY LOW WATER CROSSING AS SHOWN ON PLANS. ISIBLE FOR REMOVING AND REPLACING DURING RAIN BIBLE FOR REMOVAL UPON PROJECT COMPLETION,	LS	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$33,000.00	\$33,000.00
18 ALL REQUIRED LEAGUE	CITY CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$50,000.00	\$50,000.00	\$1,498.50	\$1,498.50
19 ALL REQUIRED TEXAS	CITY CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$65,000.74	\$65,000.74	\$12,990.00	\$12,990.00
PHASE 1 MISCELLANEOUS IT	EMS SUBTOTAL:				\$441,939.00		\$869,356.74		\$1,013,492.97
PHASE 1 ALTERNATE ITEMS									
	ERIAL FROM PROPOSED POND TO OFFSITE J OF EXCAVATION ITEM 2, COMPLETE IN PLACE	CY	253356	\$30.00	\$7,600,680.00	\$20.00	\$5,067,120.00	\$27.00	\$6,840,612.00
PHASE 1 ALTERNATE ITEMS	SUBTOTAL:				\$7,600,680.00		\$5,067,120.00		\$6,840,612.00
BIDDING SUMMARY									
SUBTOTAL PHASE 1 EXCAVA	TION ITEMS				\$3,079,832.52		\$3,191,997.26		\$2,909,714.46
SUBTOTAL PHASE 1 DETENT	ON DRAINAGE ITEMS				\$124,153.07		\$153,282.00		\$131,312.73
SUBTOTAL PHASE 1 CHANNE	L CROSSING ITEMS				\$497,594.00		\$588,044.00		\$794,169.84
SUBTOTAL PHASE 1 MISCELL	ANEOUS ITEMS				\$441,939.00		\$869,356.74		\$1,013,492.97
TOTAL AMOUNT BASE BID					\$4,143,518.59		\$4,802,680.00		\$4,848,690.00
PHASE 1 ALTERNATE ITEMS									
TOTAL AMOUNT BASE BID					\$4,143,518.59		\$4,802,680.00		\$4,848,690.00
DEDUCT PHASE 1 EXCAVATION	ON ITEMS ITEM NO.2				-\$552,316.08		-\$532,047.60		-\$364,832.64
SUBTOTAL PHASE 1 ALTERNA	ATE ITEMS				\$7,600,680.00		\$5,067,120.00		\$6,840,612.00
TOTAL AMOUNT INCLUDING F	PHASE 1 ALTERNATE ITEMS				\$11,191,882.51		\$9,337,752.40		\$11,324,469.36

JANUARY 12, 2024

1367-2910 (9.2)

 Page 4 of 4
 FRN F-1386

 LJA Engineering, Inc.